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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any ten of the following questions:
1x10=10

femfeiie emafm Sy @-(FieT wifoa Tex nle ¢
a)  What is IS curve?
IS ¢zl 2
b)  What is Say's law?
147 9 2
¢) What is Cash Reserve Ratio (CRR)?
oM S| SRS JEIO (AR 2

d) How is the slope of IS curve?

IS @AF @ e e
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g)

h)

i)

k)

)

632/Eco

When does inflation occur in Keynesian

economics?
(@AY LSS JUPHIS T2 G5 2

What is current account?

FIED SIFITT F 2
What is capital account?

IO QST Fi2

Who introduced the concept of involuntary

unemployment?

Sfep2Fe (IR Al (T &bele HC 2

What is marginal propensity to consume
(mpc)?

e (olol &Sl 0O F (I 2

Define inflation.

JEPEIfeR A wie |

Define average propensity to save.

A e el A WE |

What are the three motives of holding money

given by Keynes?

@R P O o AR Sy 2



m) What are the determinants of propensity to

0)

consume?

colel grorelg Mgl Jie

What are the determinants of propensity to

save?

A% gorely Hfrrele Fe

What is the meaning of Investment?

ffcs Te1ce F @R e

Answer any five questions from the following:

2x5=10

fasfafiie emefem St @-@Et “infog Ted 7l ¢

a)

b)

c)

d)
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What is liquidity trap?

SRIGETE FW F?

What is meant by GNP deflator?
%5 GO TeAm FKCAIKT 2

Define involuntary unemployment.

S RIFe ([FFIACGI I 0E |

Define circular flow of Income.

IR J€ @FI0oF TS 08 |
What is inflationary gap?

UFRIReR FE 2
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g)

h)

Mention two measures to control inflation.

Jurife fagem b o See 541

What is meant by depreciation of capital?

P GEICEACEIHIEIE

What is crowding out?

Crowding out 1?

Answer any two questions from the following:

5x2=10

famfeiiee el S @-@e vioa Tex we ¢

a)

b)
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What are the factors that affect consumption

expenditure in an economy?

g wLifon celel a1 PR B gelfhe 27
State and explain the equilibrium condition in

the circular flow of income.

SR JeEted FolkzR w1t [Rge 4 ¢ i
91

Distinguish between the Classical labour
supply function and the Keynesian labour

supply function.

FIPTE 8 (FETAR J @SN AT N
Ny Fefar 1



4.  Answer any one question: 10x1=10

-G @Fiog Ted 1S ¢

a)

b)
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1)  What are the determinants of money

supply?
ERERIRICERBNIEEIC I T

11) How can we determine the monetary
equilibrium?
wifels SREisy e e Fa =0

111) Explain quantity theory of money.

2+2+6

wR sAfEsel wel i w4

Explain how equilibrium income and
equilibrium rate of interest are determined

simultaneously in the IS-LM model.

IS-LM (e It SR SR € SRy JWE
2 Yool fdifae zx e 391

Briefly explain the cash balance version of

the quantity theory of money.

w24 #ifaw ©ed cash balance versionfs FREwo!
I A



